2.2 Simplifying Radicals
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1) Identify the index and the radicand for each radical.
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1) Simplify each radical.
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| Steps to Simplifying Radicals

| \)MA\% o r‘yriuw- {factoc Hree

7,3 Cice\le grovps of I indax
e U wlans groups of 3

else shys in
e moltiply ovtsida parts Yogether %
L Msf&:_,*?gr*s i-ov_}d'hu

g) Circltd numbers come out, Wq\f'““"j

a) V63

b) v392 ¢) 3v112
A~ A
2 gt 2
\
BN 1) ¢
7\ 44 Aﬁ
-
¢ \‘2. )
Hlz
‘ VIRE]
fy V=132 * A oL 212 ¥500
A Cadhi canh with

L be an  odd TAJLK
A will have o

L 3 e gn el
N N%(t:\'\‘d .
| 31l

\

e , Nethag came oot
! -3i37, ‘ s e-éy*““j \m;{é\

&
nr\’ but the AASNVES

d) V56
A
). QL

ﬁz_ﬁ




You will also be asked to simplify radicals with i imaginary roots. To do this,
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<) Simplify each radical.
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If you encounter radicals with variables, you will still break it down like normal; however, the variables that
come out of the radical may need absolute value signs around them.

'erhen you are asked to find a root, you are being asked for the principal root, meaning the positive outcome
of the square root. Because the variable might be negative, we need absolute value signs to assure that we are

| answering with the positive root.
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